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$OEDQL�6XU\DQL����������� � 6WXGL� .RPSDUDVL�� 6LVWHP� 7DQDP 3DNVD� -DZD

GHQJDQ�6XPDWHUD�%DUDW�$EDG���

3HQHOLWLDQ LQL� DGDODK SHQHOLWLDQ� 6WXGL .RPSDUDVL 6LVWHP� 7DQDP� 3DNVD� -DZD
GHQJDQ� 6XPDWHUD� %DUDW� DEDG� NH����� 7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN
PHQJJDPEDUNDQ� SHUEDQGLQJDQ� 6LVWHP� 7DQDP� 3DNVD� GL� -DZD� GHQJDQ� 6XPDWHUD
%DUDW� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� SHQHOLWLDQ� NHSXVWDNDDQ�� 0HWRGH
SHUSXVWDNDDQ�DGDODK� WHNQLN�DWDX�SURVHV�GDQ�SHGRPDQ�XQWXN�PHQJRODK�GDWD� WHNV�
WHUXWDPD� GDWD� VHNXQGHUGDQ� GDWD� SULPHU� GDODP� EHQWXN� WXOLVDQ� EXNX�� GDQ� MXUQDO
LOPLDK�� 3HQXOLV�PHODNXNDQ� WLQMDXDQ� SXVWDND� GDQ DQDOLVLV� VXPEHU� \DQJ� DGD VHUWD
PHPSHODMDUL� EXNX�EXNX� UHIHUHQVL� GL� SHUSXVWDNDDQ� \DQJ� EHUNDLWDQ� GHQJDQ
SHQHOLWLDQ XQWXN�PHQGDSDWNDQ�JDPEDUDQ \DQJ�GLJXQDNDQ�VHEDJDL�EDKDQ�WXOLVDQ�

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� 6LVWHP 7DQDP� 3DNVD GL� -DZD
EHUKDVLO� VHPHQWDUD�6LVWHP 7DQDP�3DNVD GL�6XPDWHUD�%DUDW�PHQJDODPL�EHEHUDSD
NHJDJDODQ�� 6LVWHP� 7DQDP� 3DNVD� GL� -DZD� EHUKDVLO� NDUHQD� VHFDUD� WUDGLVLRQDO�
SHQJDEGLDQ�PDV\DUDNDW�DGDODK�EDJLDQ�GDUL OHPEDJD�\DQJ�PHQGXNXQJ�QHJDUD GDQ
SHPHULQWDK�PHQJHOXDUNDQ�VHMXPODK�EHVDU�XDQJ�XQWXN�PHQGDSDWNDQ�WDQDPDQ \DQJ
ODNX� GL� SDVDUDQ� GXQLD DJDU SHWDQL PDX�PHQ\HGLDNDQ� HQHUJL� GDQ� GLGXNXQJ� ROHK
SHQHJDN� KXNXP NHNXDVDDQ�� 6LVWHP�7DQDP�3DNVD� GL� 6XPDWHUD�%DUDW PHQJDODPL
NHPXQGXUDQ�NDUHQD�SDWRNDQ�KDUJD�NRSL� WHUODOX�UHQGDK��EHUNXUDQJQ\D� WDQDK�\DQJ
FRFRN�XQWXN�WDQDPDQ�NRSL��EHUMDQJNLWQ\D�SHQ\DNLW�GDXQ�NRSL��GDQ�SHQ\LPSDQJDQ�
SHQ\LPSDQJDQ� \DQJ� WHUMDGL� VHSHUWL� NHODODLDQ� SHMDEDW� ORFDO� VHUWD� NHPDODVDQ
SHQGXGXN�VHWHPSDW�
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